	E10*
	o.e.
	0.6
	1
	1.1
	1.2
	1.3
	1.4

	E10
	В
	
	
	
	
	
	

	Ф=         E10
	Вб
	
	
	
	
	
	

	Вd=Ф/
	Тл
	
	
	
	
	
	

	ВZ1/3=Ф/
	Тл
	
	
	
	
	
	

	B/a1=          ·Ф
	Тл
	
	
	
	
	
	

	HZ1/3
	А/м
	
	
	
	
	
	

	H/a1
	А/м
	
	
	
	
	
	

	Fd=      Вd
	А
	
	
	
	
	
	

	FZ1=                   · HZ1/3
	А
	
	
	
	
	
	

	Fa1=                · H/a1
	А
	
	
	
	
	
	

	FdZc= Fd+ FZ1+ Fa1
	А
	
	
	
	
	
	

	Фs2=            FdZc
	Вб
	
	
	
	
	
	

	Ф2=Ф+ Фs2
	Вб
	
	
	
	
	
	

	BZ(0.2)=Ф2/ 
	Тл
	
	
	
	
	
	

	BZ(0.7)=Ф2/ 
	Тл
	
	
	
	
	
	

	B/a2= Ф2/ 
	Тл
	
	
	
	
	
	

	HZ(0.2)
	А/м
	
	
	
	
	
	

	HZ(0.7)
	А/м
	
	
	
	
	
	

	Ha2
	А/м
	
	
	
	
	
	

	FZ2=    (HZ(0.2)+ HZ(0.7))/2
	А
	
	
	
	
	
	

	Fa2=           Ha2
	А
	
	
	
	
	
	

	F2= FdZc+ FZ2+ Fa2
	А
	
	
	
	
	
	

	F2*=F2/      
	о.е.
	
	
	
	
	
	


Результаты расчёта характеристики холостого хода.

